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1. Describe the functions of each layer in the OSI model. (15%)

2. (a) Explain in detail what is TCP three-way handshake ? (10%)

(b) Explain what the go-back-N(GBN)protocol (10%) and the selective repeat protocol
are. (10%)

3. DNS uses UDP instead of TCP. If a DNS packet is lost, there is no automatic recovery.

Does it cause a problem, and if so, how is it solved 7 (10%)
4. In both IP and ATM, the checksum covers only the header and not the data. Why 7 (10%)

5. (a) Explain the fields of the header in an IP packet 7 (20%)
(b) Explain the fields of the header in a TCP segment. (15%)
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